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COMMERCE

(Honours Core )

Paper : COM-HC-6026
(Indirect Tax Laws)
Full Marks : 80
Time : Three hours
The figures in the margin indicate

Jull marks for the questions.

Answer either in English or in Assamese.

1. (A) Choose the correct answer : 1x5=5

um bed b Blered ¢

(i) Which of the following is not correct with
regard to GST ? j
ol SIF (I 99 FTO© Wed (ICH1 U6 w5
27 ? ‘

(@) Itis a value added tax

3 35 RANfErS 9

Contd.



(b) Itis a destination based tax

3 o7 fofes 39
(c) Itis collected at niultiple stages
215 Rfon w9 Maz 1 2

(d) Only Central Government is
authorised to collect this tax

AR FRAR TG (T (P AP FE

o I (2

() Which of the following w1ll not be
charged to GST ?

OO (FINIRY ANTR SATS Aoy &9 G 4l
9 = 2

(@) Jewellery
QeS|

(b) Electronic goods

EAGAS AW
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(c) Alcoholic liquor for human
consumption

ML (- TPy

(d) LIC Policy
G 1 AAfeS

(i) Which of the following is correct with
regard to IGST ?

82 246] T[T (7 T MO © OFT (FIC0! Bfes
o] 2

(a) Itis levied by the State
Governments

I TS HIPIPTR S T

(b) It is sum total of CGST and SGST/
UGST

% CGST % SGST/UGST I (Ii5e

(c) It is levied on intra state supply

216 AEPT[F oo @inie sgo

Il 9 5
(d) All of the above
' @I Bl

4 (Sem-6/CBCS) HC 2 (ITL)/G 3 Contd.




>

(iv) Which of the following Acts specifies the
rates of custom duties ?

ST (PICH! SR A WFS 29 [afwel 77 2
(a) The Custom Act, 1962
A = =2, 1962
(b) The Custom Tariff Act, 1975
A T pe Sz, 1975
(c) The Central Excise Act, 1944
FEI TR GF Oizd, 1944
(d) None of the above

€T DI\S 72F

(v) Assam VAT Act, 2003 came into force
on :

ST 367 HLANEre 9 SNiEd, 2003 (i ©iffE
A TR 91 2 8

(a) July 1, 2017

1 ge1ig, 2017
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(b) September 16, 2016
16 (bC¥RT, 2016

(c) May 1, 2005
1 1, 2005

(d) April 1, 2003

1 @f#=, 2003

(B) Fill in the blanks: 1x5=5
el S8 217 4 ¢

(i) The final burden of every indirect
tax falls upon the

G299 (A |

q .

(ii) One can say GST, a revised edition

of
Sy O (I 9 I FRHES
FRE e 21 AR |
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(iii)

(iv)

(v)

was the first country which
introduced VAT.

T AN 9 26 T4 AT (A
e |

India adopts GST model.

CROIIS AL e R 9 ——— SifE
size FRE|

Goods become liable to
when there is import into or export
from India.

SIS (ST ST S SIeE o1 g2
CFe ARCIY T Seif{d 2
AE |

2. Answer the following questions: 2x5=10

TEE 2R Ul W g

(a) What is valid contract of sale under Sale
of Goods Act, 1930 ?

Se) Kiera =2, 1930 I wdie (9 {al ofe

G
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(b) Write any two features of integrated GST.

5o #{el) ST G o1 Rl 7o) (A1 1|

(c) What do you mean by excisable goods ?

SRISICAlel AN IFEiE 6 g8 2

(d) Define the term “Territorial Waters of
India’. ;

SRS Ted TeTelsl S FikE |

(e) Write two objectives of GST
implementation in India.

OIS 719 SR G 6w 757 Grwrely 10l
41|

3. Answer any four questions : 5x4=20
fraizeT bifab! e| Tea uw ¢

(a) Prepare a list of taxes subsumed under
GST.

| ool T (T TS (T (2RI RS I e
S 7l |
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(b) How is GST a destination based tax?
Explain with illustration.

R 2 ST G 39 < 7 Fofes 042
THIRFIAZ IR0T < |

(c) Write any five limitations of excise duty.

RIS ST RPI 250 el 96 <1 |

(d) Name the goods which remain out of
purview of VAT.

o AN 51 #1412 2t AT T
I TeEd 4 |

(e) Write about the constitutional ‘provisions
for formation of GST Council.

A% O (G B9 AfET MIN1 rge A5
AR RIS 8o @3 (Gl it |

(/)  Explain in brief the different types of
~ custom duties.

fafon 2ies A w91 @ b3 120 e |
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4. Answer any four of the following questions :
10x4=40

weTe Al et [ ifebe Tes W ¢

(a) Describe in brief the history of GST in
India.

TIROIG #i¢lf W% (T T 2O b3 -
|

(b) Discuss the shortcomings of old regime
of indirect taxes.

S AR T TZI A IZAIZ D <51 |

(c) Describe in brief the reasons for
introduction of GST in India.

SITeaE© H4) T O F9 20T PIFEPTIZ
FLCHLA DG 4 |

(d) Distinguish between GST and VAT.

o) SIF (T 9 NS o7 ALAMCT® FF Mo

| LT 30T 1 |
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(e) Enumerate the need of enacting the state
and union territory legislations for GST.

AT S (T “[7TS SLFHIZ B! 2i¢l) S
(T 9 % ST SIRHTFO &2/ G [Rge
(BI SHsiRTEEl |

() Write the meaning of excise duty.
Evaluate the position of excise duty in
new tax regime of indirect taxes.

2+8=10

SRR wH W &7 | T a3 9z
SIS ST (A B A2 SRR Ao 4 |

(g) Define the following terms under the
Customs Act, 1962 : 2x5=10

S S 12, 1962 T NGO 6T 2] *Riri<
ceal a8

(i) Baggage
Bife-CBiesiie

(i) Coastal Goods

TATAR T
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(iii) Exporter
e

(iv) Imported Goods

iAo Aa

(v) Importer
SIRGIEEO)

(h) Who are persons liable for obtaining
registration under GST ? Explain the
procedure of obtaining registration
under GST. 4+6=10

SRR AT T S Rl T ST
SGTR AE WA 2 TF WP (Rl T T
AT eAferar I F |
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